(HE
HER B EEERERE (R2. 4~R3. 3)
B |8 |[xHEE |IRASE L5 8By ([BESL AR i
4] 28 7 18,330[sa=wzE | 1:AEHHEE |ERERTSE(EH) R2. 4~R2. 9
9] 25 60 18,330[A=ME | 1AEREE |EBEXRBESETH) R2. 10~R3. 3
2] 8 123 1,000 5A=m% | 1RAEHEE [FHESNE wEmH(14)
0] 37,660 1:AEHHER $it
2] 8] 122 620 amE| 2HokikE @ m 1%,
0 620 2HRIRE S£5
6] 8 19 4200 mzwzun | SRBIE LY [IHmAERETEIIY hERBRA= (6 H6H)
7[10 33 6,090 [mamzust | SRIGEEH |/ PELH— hBRES(7A16H)
9 1 52 6,090 [mamzust | SRIGEEH |F/NPELH— mERBHE(9A1H)
11[ 24 83 10370(sa=mzE | 3RiGEEH |/ ELLS— hERBES(12A1H)
2[17 125 3,950 ;AzmzE| SxFEER [d/hiELEF— T REREES (2H20H)
0] 30,700 3R 4 it _
4 6 1 51,840 iAW | GENMIE JE—%)—X(4A %) HES ZN0EES)
5] 7 9 51,840|5A= % | SEIRIE JE—#%1)—X(58%) 5lEEEL(Ja-)
6] 4 18 51,840 |5A=m% | SEIRIE JE—#1)—X(6A5) 5lEEEL(Ja-)
71 6 30 51,840|5A=m% | SEIRIE JE—#%)—X(TAR) 5lEEEL(Ja-)
8| 4 43 51,840 |5A=w% | SENRIE JE—#1)—X(8AH) 5lEEEL(Ja-)
9] 4 54 51,840 |5A=m% | SEIRIE JE—#%1)—X(QAHR) 5lEEEL ()
10] 5 66 51,840 |5A=m% | SEIRIZE JE—#1)—X(1085) 5lEEEL(a-)
11] 4 78 51,840|5A=®% | SENRIE JE—#)—XU1AH) 5lEEEL ()
12] 4 94 51,840 |5A=m% | SEIRIE JE—#)—X(128%) 5lEEEL(Ja-)
1] 4 108 51,840|5A= % | SEIRIE JE—#)—XOAH) 5lEEEL(Ja-)
2] 4 120 51,840 |5A=m% | SEIRIE JE—#)—X(28%) lEEEL(Ja-)
3] 4 135 51,840 |5A=m% | SEIRIE JE—#1)—X(3AH) 5lEEEL(Ja-)
4] 28 6 14,909 |sA&EmME | SENRIZE JE—KUASH)
5] 25 13 14,254 |sEM% | SENRIE JE—RKGAR)
6] 26 23 35919|5A&mE | SEIRIE JE—RK(6HAH)
7] 27 37 28,867 |sAEwE | SENRIE JE—RKTAH)
8| 28 50 13,231|s&m% | SENRIE JE—K(8AH)
9] 29 63 42,100 |5A=m% | SENRIE JE—K©QAH)
10] 23 71 25,455 |5AE% | SENRIE JE—KU0ER)
11] 30 85 40,306 |sAZERE | SENRIE JE—RKU1ASR)
12] 23 103 41,263 |sAEmE | SENRIE JE—RK 028 %)
1] 25 112 43818|sAEmE | SEIRIE KO AH)
2] 25 128 33,633 |sAEmE | SEIRIE JE—RK@2AH)
3] 31 145 20,439 |5AEmE | SENRIE JE—R(SHEH)
0| 976274 SHIRIE S=ar
7] 21 34 384,120 SAEWE | OILmE Fl—1—X (13,0000K) (1945)
12[18 101 289,520|:@=M%E | 6/LIRE 20204 7 > 4 — M ENRIX (50,0004%)
0[ 673,640 6 BT _
4] 24 3 4900 iEnE|  NEBAE |HARETRIIK(AAD)
5] 25 12 4900[mEzME| 7TNEBAZ |BABEFERKGASR)
6] 24 22 4900[EzME| TNEBAZ |BABEFBRK(GAR)
7] 27 39 4900[mEzME| 7TNEBAZ |BABREFERK(TAESR)
8 24 45 4900[EzME | TNEBAZ |BAZEFBRK(BASR)
9] 23 57 4900[EzME | 7TNEBAZ |BAZEFERK(OQASR)
10] 22 69 4900[zEzwME | TREBAE |AAEEFELG0ES)
11] 24 82 4900[EzME | TREBAE |AAEEFELU1IES)
12] 21 102 4900[EzEME | TREBAE |AAEEFERKLG28S)
1] 26 114 4900[EzME| 7TNEBAZ |BABEFERKOASR)
2] 22 126 4900[EzME| 7TNEBAZ |BAZEFERK(CHESR)
3] 23 141 4900[zAEmE| 7THEBAE |AXAEFHENKGHS)
4] 27 4 4037[AzEwE| TRNEBAE (MEHFEUGASR)
5] 26 14 4037[AzEwE| TRNEBAE |(MPHE(GAR)
6] 29 25 4037[AzEME| TRNEBAE |(MEHE(6A D)
7] 28 40 4037[AzEwE| TRNEBAE |(MPFHE(TAR)
8] 26 46 4037[REzME| TRNEBAE |(MEHE(8AH)
9] 28 62 4037[REzEME| TNEBAE |(MPHE(QAHD)
10] 29 73 4037|[REzwE| TRNEBAEZ |(HEFHEG0ASR)
11/ 30 87 4037[AzwE| TRNEBAZE (MEFHEG1IASR)
12| 24 104 4037[AzEwE| TRNEBAEZ |(MEFHEG28S)
1] 26 113 4037[AzEwE| TRNEBAE (MEFHEGASR)
2] 26 129 4037[AzEME| TRNEBAE |(MPFHE(2AR)
3] 26 142 4037[AzEME| TRNEBAE |(MPEHE(S3AR)
4] 28 5 415355 | TRIZEBAE |rarovsml. msissen raal. (55, BE2EEAREK G AD)
5[ 20 11 2903|saEHE| 7TRIZEBAZ |[LtE0uvaIE). [Hifl. [#Z&l BELBAARGAESR)
6[18 21 2903 |sAEHE| 7THEBAE |[[ZMEQUVAILL. [HiIf]. [#F&l BRLBARERGAESR)
7] 27 38 2903 ;REHE| TREEAE [[XHEQUVAIEL. [Fif. [#F&l BRLBAERTAER)
8l 11 44 2903 |sAEHE| 7THEEBAE |[[ZMEQUVAILL [HiIfl. [#F&l BELBAKBAESR)
9] 15 56 2903 |sAEHE| 7THEBALE |[[ZMEQUVAILL [HIfl. %%l BELBAKOQAER)
10 30 76 2903 |sAEHE| 7THEBALE |[[ZMEQUAILL. [EiIf]. %) IS LaAaEI(108S)
11/ 30 86 2903 |sAEHE| 7THEBAE |[[ZMEQUVAILL. [HiIf]. %) lEslaAaEx](118S)
12] 15 97 2903 ;REwE| TREEAE |[[LKHEQUVAIEL. [FifE. Zx). [BatBbEI28%9)
2] 5 121 2903 |:AEHE| 7THEBAE |[[ZMEDQUVAILL [HiIf]. BEl.IBsE88KI0AR)
2] 26 130 2903|saEHE| 7TRIZEBAZ |[LtE0uvaIE). [Hifl. BEl [EsLBREKI(2AS)
3[10 137 3089|:AEHE| 7THEEBALE |[[ZMEDQUVAILL [EIf]. P ANE =Ry E2))

5



(HER)

BB |[xHEE|IRASEE |THEEHE 8ExXy (BESL RES i
6] 15 20 3000/:AxmE| 7THEEBALE |BMIHE L HABESE 202044 5 ~202069 A
10] 22 70 3000/:AEmE| 7HEEALE |BMIHE 20204E10H ~20214E3 A
11] 24 81 7200|sAEmE | 7TRIEEBALE |SFAHE. £ELERE 202054 B ~2021%E3 8
7] 7 31 16,500[RzwME | 7TREBAE |[ZTEEEMBERFR 20205 HES~X5
12]15 98 2640|sAEHE | 7THEBALE |FEKIBEE 202051 H~12H
12] 15 100 6,960|:AxHE| 7THEBALE |[FRALASA 202054 B ~2021438
12] 1 92 9920|:AEME | 7THEBALE | AiE (S EF-BiHE- £ER) |20208F18~128
1[18 110 16,782[;RzHE | TREBAE |[HRITEABSE011-112) Hh 75 B4 BR B (R S #5 2E # (255-260)
12] 15 99 13,284[RzwHE | TREBALE |5 EHEHRE RS EE (384-389)
3[10 136 3690|:AEmE| 7THEBALE |thiBAKREIRESEH (261-263)
7] 7 32 6,160|s@zEME| TREBEAE |[weswosszim merazcasmna. |ADBOLE#OLA O ITITIEK
9] 25 58 3173|AEHE| 7THEEBALE |BREHE2020
10] 20 68 55,605|&MR| 7THEEAE L)y TOAIUEBH
2[ 3] 118 3500/sEHR| TRHEMAR |HIEDHSFEL I
2l10] 124 16,170\ smmmz | TREBBAR |1 onans s nimma o i REOREEEBORE,
0] 311,100 7TEIMEBEAR £5 _
5| 27 15 5016 AEHE| SBIEE A3 —FIMEAR (AA5) [BlEEEL (A aL)
6] 29 24 5016|sAZHE| SHEEE A —3xyMERE (5A ) [BIEEEL(RMOL)
7] 27 36 5016 |5AEHE| SHEIEE A —3yMERKE (6A%R) [BIEEEL(RMOL)
8| 27 47 5016 |sAZHE| SHEEE A —3yMERE (7AR) [BIEEEL(RMOL)
9] 28 61 5016|5A=HE| SHEEE A —3xyMERFE (8ASR) [BIEEEL(RMOL)
10] 27 72 5016|5AZHE| SHEEE A —3yMERE (9A ) [BIEEELL(RMOL)
11] 27 84 5016|sAZHE| SEIEE A 3—2yMERE (10A5) [BIEFEL (Rq4aL)
12[ 28 105 5016 |sAZHE| SHEEE 13— yMERFE (11 A5) |BIEEHEEL(RATL)
127 115 5016 |sAZHE| SHEIEE A 3—2yMERE (12A45) |BIEFEL(RqAOL)
3] 1 133 5016|sAEHE| SHEEE A—3yMERF (1 AR) [BIEEEL(RMOL)
3] 29 144 5016 |sAZHE| SHEEE A —3xyMERE (2A%9) [BIEEEL(RMOL)
4] 27 147 5016 |5AEHE| SHEIEE A —3yMERR (BAR) [BIEEEL(RMOL)
1] 20 111 11,610|sAEM%R| SBIEE HIMEMEE (20205 7o r—hRIES) | BIEEHEL (B AREE)
2|22 127 31,860 |sA=mE | SHEIEE BMEMEE (2020 7o r—hRIES) | BIEHEL (B AREE)
3] 22 140 810|saEmR| SEBIEE HMEMER (20207 —MRIESD) [ BI1E R EL (A AEYE)
0[ 104472 8:&1s &T
4] 30 8 100,000 A& [osrznarmnes (A5 (4H )
5] 29 16 85,500 |SAZEHE 102 rsnaERes (85 (5AR)
6] 30 27 105,500 |sAEHZ [osrznaenes (A5 (6 A H)
6] 30 28 5,000 A& [osrznarnes A5 (6 AH)
7] 31 41 101,000 FAEHE osrznaemss |5 (T HEY)
8] 28 48 26,000 5% [osrznaEnes (A5 (8A YD)
8| 28 49 83,500 [sAEHE 102 rsnaERes (85 (BAR)
9] 29 64 23,000 5% [osrznaEmRes (A5 (QAH)
9] 30 65 97,000 5% [osrznarmnes (A5 (QAH)
10/ 30 74 115,000 |sAEHZ [osrznaemnes (55 (108 H)
10/ 30 75 23,000|sAEHE [osrenaEmss (55 (108 9)
11] 30 90 31,250 %% [osrenaEmRss (5 (11AY)
11]30 91 103,750 |sAEH% [osrznaemes (A5 (1A YD)
12[ 28 106 37,300 [5AEHE [oarsnaEmen (85 (128 H)
12[ 28 107 105,400 |SAEHE [osrsnaEmss |55 (128 )
129 116 41,150|sAEHR [osrznarmnes (M5 (1 AH)
1] 29 117 87,800|sAEH%: [osrznarmes (M5 (1 AH)
2] 26 131 38,950 [SAEHE 102 rsnaERes (85 (2AR)
2] 26 132 93,850 AL [osrznarmRes (A5 (2A )
3] 29 143 1,100 5AEHE osrswarmes (5 GBASH)
3] 31 146 96,600 |sAEHZE [osrznaEmRes (55 (BAH)
6] 30 26 94,000 AL [osrznaERes | EE=—FHE
12]10 95 214,280 SAEME o rznarmes |RE—HE
1210 96 37,400 AEHE [osrznaERes |[XE5—HKE
3[15 138 19,067 |5AEHE [osrsnarmes [PXRFY
3[15 139 46,842 |SAEHE [osrsnaEmes (BIKF Y
11]30 88 67,750 AL [osrznarmRes (5 (RXR—XT7vTH) 2020%4H ~10A %
11] 30 89 7450 AEHE [osrznarnes |85 (R—XT7vTH) 202054H~10A%
7| 22 35 4,705|AEHRE o renarmes | HEIRIRE
0] 1,893,144 0RRERARERR £t _
4 6 2 4,968 REMR| 11 NI —AB (AR 5) HES IaNUERD)
5] 7 10 4,968|sEHE | NEKE NV —ZRE (5B H) 5lEEEL(Ja-)
6] 4 17 4,968|sEHR | NEKE Ny )—RE (6B H) 5lEEEL(JT-)
71 6 29 4,968|sEHR | NEKE NV —ZRE (T HER) 5lEEEL(Ja-)
8| 4 42 4,968 |sEHR | NEHKE N\ )—ZRE(8AH) 5lEEEL ()
9] 4 55 4,968 |sEHE | NEKE NV —ZRE (9B H) 5lEEEL(Ya-)
10] 5 67 4,968 |sEHE | NEKE /Ny )—ZRE (0B &) BlEELL()I—)
11] 4 77 4,968|sEHE | NEKE Ny )—ZRE 1B H) 5lEEEL(Ja-)
12] 4 93 4,968 |sEHE | NEKE NV —RE (128 5) 5lEEEL(Ja-)
1] 4 109 4,968 |sEHR | NEKE N\ ) =R BH) 5lEEEL ()
2] 4 119 4,968 |sEHR | NEKE NV —RE (2B H) 5lEEEL(Ja-)
3] 4 134 4,968 |sEHR | NEHKE N\ )—ZE(BAH) 5lEEEL(Ja-)
9] 2 53 11,750|sAEmz | 11EHE JE—RiR A4
9] 25 59 20,370|saEHm% | 11EBHE JE—FRiR A4, A3
9] 1 51 4,158|sEHE | NEKE g




(HE
BB |[xHEE|IRASE |THEEHE BB8Xy ([BESL RES i
11]10 79 3,535 sAEmHR | 11ERE /\Yay SU—J)\58
0] 99,429 EX: S
4] 20 3,600,000 EBEDE | B E B a8 e (A~9 8 5)
10 20 2,880,000 REME | BISESE BEEE (10~3A%)
210 -160,000 mEns | R EEE B a5 R FTEZEE DR (1% X2 H)
6,320,000 0 BB s B et
817 9 FlE (FR FIE
2] 22 11 FE |FE FE
20 0 T
6,320,020 4,127,039 Bt
6,320,000

65.30%

5



